Subtract Tens from 3 Digits

1. Solve the subtraction calculation:

839 - 60
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4. Cora is calculating the following
subtraction: 628 - 80.
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She says,
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Is she correct? Explain your reasoning.

2. A rugby team had 765 fans. They lost 90
after a bad defeat. Use the place value
grid to find how many fans were left.
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5. | subtracted a 2-digit number from 944.

My answer is:

8104

What number did | subtract?

Give three possible answers.
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3. Match the subtraction number
sentences to their answers. Use the
number line to help you.

447 457 467 477 487 497 507 517 527 537
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A.517 -40 457
B. 537-70

C.507 - 50
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6. Which subtraction is the odd one out?
Prove it.
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